Answer on Question #77707, Chemistry / General Chemistry
Number of moles of 10.0g of CuSO4.5H20
Solution
To answer this question we should use the formula:
n=m/M;
where n- number of moles of a substance
m- mass of a substance
M — molar mass of a substance
Find molar mass of CuSO,4-5H,0
Mr(CuSO4-5H,0) = Ar(Cu)+Ar(S) +4-Ar(0)+ 5- (2-Ar(H)+ Ar(0))= 64+32+4-16+5-(2-1+16)= 250
Mr=M
M( CuSO4-5H,0) = 250 g/mol
Find number of moles of CuSO,4-5H,0:
n(CuS0,4-5H,0) = 10.0 /250 = 0.04 (mol)

Answer: 0.04 mol
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